



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{2} + \frac{1}{3}\right)^2 + \frac{2}{3}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} + \frac{3}{4}\right)^2 + \frac{1}{2}\left(\frac{1}{2} + \frac{1}{2}\right) =$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 - \frac{2}{5}\left(\frac{1}{4} + \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\frac{1}{5} + \frac{1}{3}\right)^2 + \frac{2}{3}\left(\frac{1}{2} + \left(\frac{1}{4}\right)^2\right) =$$

$$\left(\frac{2}{5} - \left(\frac{2}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{3}{4} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{1}{4}\right)^2 - \frac{1}{5}\left(\frac{1}{2} - \frac{1}{2}\right) =$$

$$\left(\left(\frac{3}{4}\right)^2 - \frac{3}{4}\right) \times \frac{1}{2} + \left(\frac{1}{6} + \frac{2}{3}\right)^2 =$$

$$\left(\frac{1}{3} + \frac{1}{2}\right)^2 - \frac{1}{4}\left(\frac{3}{5} + \frac{2}{3}\right) =$$

$$\left(\frac{1}{4} - \frac{1}{2}\right)^2 - \frac{3}{5}\left(\frac{1}{4} + \frac{1}{2}\right) =$$

$$\left(4 + \frac{2}{5}\right)^2 + \frac{1}{2} + 3^2 - \frac{1}{6} =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{2} + \frac{1}{3}\right)^2 + \frac{2}{3}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) = \frac{3}{4}$$

$$\left(\frac{1}{2} + \frac{3}{4}\right)^2 + \frac{1}{2}\left(\frac{1}{2} + \frac{1}{2}\right) = \frac{33}{16} = 2\frac{1}{16}$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 - \frac{2}{5}\left(\frac{1}{4} + \left(\frac{3}{5}\right)^2\right) = \frac{283}{500}$$

$$\left(\frac{1}{5} + \frac{1}{3}\right)^2 + \frac{2}{3}\left(\frac{1}{2} + \left(\frac{1}{4}\right)^2\right) = \frac{1187}{1800}$$

$$\left(\frac{2}{5} - \left(\frac{2}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{3}{4} + \frac{1}{3}\right)^2 = \left(-\frac{3793}{3600}\right) = \left(-1\frac{193}{3600}\right)$$

$$\left(\frac{2}{5} - \frac{1}{4}\right)^2 - \frac{1}{5}\left(\frac{1}{2} - \frac{1}{2}\right) = \frac{9}{400}$$

$$\left(\left(\frac{3}{4}\right)^2 - \frac{3}{4}\right) \times \frac{1}{2} + \left(\frac{1}{6} + \frac{2}{3}\right)^2 = \frac{173}{288}$$

$$\left(\frac{1}{3} + \frac{1}{2}\right)^2 - \frac{1}{4}\left(\frac{3}{5} + \frac{2}{3}\right) = \frac{17}{45}$$

$$\left(\frac{1}{4} - \frac{1}{2}\right)^2 - \frac{3}{5}\left(\frac{1}{4} + \frac{1}{2}\right) = \left(-\frac{31}{80}\right)$$

$$\left(4 + \frac{2}{5}\right)^2 + \frac{1}{2} + 3^2 - \frac{1}{6} = \frac{2152}{75} = 28\frac{52}{75}$$